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PHILOSOPHY — HONOURS
Paper : CC-10
[Epistemology and Metaphysics (Western)]
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
1. Choose the correct option (any fen) : 1x10

(a) Which of the following philosophers helds the view that the mind passively receives the ideas?
(i) Hume (ii) Berkeley
(iii) Locke (iv) Leibnitz.
(b) Defining the word ‘X’ is a of having a concept of X.
(i) sufficient condition
(i) necessary condition
(ii) sufficient-necessary condition
(iv) None of these.
(¢) Which of the following is analytic statement?

(i) Snow is white. () All crows are black.

(iii) All black cats are black. (iv) Apples are sweet.
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Which among the following philosophical schools supports the correspondence theory of truth?
(i) Pragmatists (iiy Intutionits

(iii) Idealists (iv) Realists

‘T shall survive my bodily death.” — What kind of impossibility is expressed here?
(1) Logical (ii) Empirical

(i) Technical (iv)  None of these.

‘T do not know the solution of this problem.” — Here the word ‘know’ is used in the sense of

(i) Propositional knowledge (i) Knowledge by acquaintance

(i) Knowing how (iv) None of these.

The negation of which of the following propositions is self-contradictory?
(i) Contingent (i) A posteriori

(i) Analytic (iv) Synthetic.

If oxygen (A) is necessary condition of fire (B), then which of the following statements is true?
(i) If A, then B. (i) If non-A, then B.

(i) If non-B, then not A. (iv) If B, then A.

“You must obey the elders.” — Here the word ‘must’ is used in which of the following sense?
() Necessary condition (i) Logical necessity

(i) Imperative (iv) Wishful thinking.

Which of the following philosophers thinks that substance is the sum-total of qualities?
(i) Descartes (i) Locke

(iii) Hume (iv) Leibnitz.

According to whom universals and particulars are logically dependent on one another?
(i) Kant (i) Hegel

(i) Aristotle (iv) Spinoza.

‘I see your difficulty.” — Here the verb ‘to see’ is used in which of the following sense?
(i) Direct experience of sense-data

(i) Hallucination

(i) Perception of physical objects

{(iv) None of the above.
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2. Answer any five questions : 5x5
(a) Explain with examples different meanings of the word ‘feeling’.
(b) What is the fundamental tenet of Pragmatism as a theory of truth? Discuss in brief.
(c) Distinguish between concept and image.
(d) Distinguish between causal necessity and logical necessity.
(e) *All red things are coloured.’ — Ts this a synthetic @ priori proposition? Give reasons.
(f) Explain Plato’s theory of universals.
(2) Make a distinction between Idealism and Phenomenalism.
(h) Discuss your view about the following statements with reasons :
(1) A proposition is true until it is proved false.

(i) The proposition is true for me, but not for him.

3. Answer any two questions -

(a) What exactly is the ‘Problem of Induction’? Does Hospers suggest any solution to it? Give arguments
in favour of your answer. 10+5

(b} (i) How does Hospers define analytic proposition? Is the distinction between analytic and synthetic
proposition tenable? Justify your answer,

(if) Explain, with reasons, which of the following propositions are analytic and which are synthetic.

1. If you work hard enough, you will be successful.

2. Every event has a cause.

3. Circles never contain straight lines. (4+35)+6
(¢) Following Hospers discuss and evaluate the nature of the causal principle. 15
(d) (@) What is realism? Distinguish between naive realism and representative realism.

(ii) Critically explain Berkeley’s idealism. (2+4)+9




